Missing Divisor Crossword

ACROSS DOWN

1. 800 + = 40 1. 750 =
2. 120 = = 4 2. 620 =
3 710 = = 10 3 864 +
5 300 + = 25 2z 390 +
6 756 + = 12 5 800 +
7 648 = = 18 6 780 +
8 750 + = 50 7 680 +
9 338 + = 13 8 480 =
1. 540 = = 18 9. 340 +

2. 162+ = 10. 308 +
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Answers

ACROSS DOWN

I 800 + = 40 I 750 +
2. 120 + = 4 2. 620 +
3. 710 + = 10 3. 864 +
5. 300 + = 25 4. 390 +
6. 756 + = 12 5. 800 +
7. 648+ )= 18 6. 780 +
8. 750 + = 50 7. 680 +
9. 338+ )= 13 8. 480 +
1. 540 + = 18 9. 340 +

2. 162+ J=9 10. 308+ )
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